PROVIDE EACH GAS BURNING APPLICIANCE A MIN. OF 100 SQUARE
INCHES COMB. AIR WITH 50% WITH—IN 6 OF BOTH FLOOR AND
CEILING. "
pan X6 CAP RAIL 3/8" « 5.1/9" STEEL pLaTe | FOR VENTING W.H. IN 1ST FLOOR OF 2 STORY BLD'G VENT THRU 1o v o, OO STAGGERED
/8" x 5-1/ ROOF 4” B TYPE VENT SERVING WATER HEATER, REQUIRES AT FULL B R e FRAM'G
@ 2x6 TOP PLATES ” .
Sy Sy 3/8" x 3-1/2" STEEL PLATE STUD SPACE OPENING OF 3 5/8" x 14 3/8". \/\
o ROOF SHEATHING @ 2x4 TOP PLATES 3" DIA. THRU ROOF FLASHING
SOST CAP INSULATION BAFFLE I I
CUT HOLES FOR
SEE PLANS PROVIDE SEISMIC STRAP @ TOP -
4"MAX PLATE PENETRATION g// OF WATER HEATER TO STUD WALL INCORPORATED
4oon PosT 2x6 DF#2 TOP PLATE L] 18 GA. 3—16d TO STUD EA END | - Al Jd 0ASOUN
y RAFTER %/" TYPICAL VENT COLLAR T[T ENGINEERING
— — 2" x 67 x 12" WEDGE i} N
= [ 1 o s| 2 JT. SPACES - ,
Tk ~ ° ° ° 3/4” TEMP. AND PRESSURE ; YN g 908 1 Sirect St 500
4x10 DF#2 410 DF42 e Q C/ R RELIEF LINE ? : ’
——POST BASE BEAM B)I-é AM # ° ° o WATER HEATER Ny . Telephone: (661)-328-9600
SEE PLANS 5/8" TYPE "X” GYP. TO EXTEND ) —— Fax: (661)-328-0030
FLOOR TO ROOF DIAPHRAM AT r =
2-5/8" ¢ NAILING/ ., ALL WALLS BETWEEN GARAGE 1 |
BOLTS \ BOLTING PER 4 i VARIES W/ AND DWELLING.
~® B r STEEL PLATE 3" STD PIPE 8" MIN. BLOCKING
WELDED TO TOP H WRAP PLATFORM W/ 5/8” TYPE / ™~
_— 6x12 RIM GIRDER OF CO NOTES " GYP
4x6 POST — ~ " TNOTCHED TO POST LUMN 1. PIPES, CONDUITS, etc., ALL PENETRATION LARGER THAN X" GYP.
° — FTG. SIZE 1—1/2"¢ SHALL BE DONE AS DETAIL 2 x 4 @ 15" 0.C. SIMPSON HU TYP.JOIST HANGERS
SEE PLANS 2. DRILL HOLES FOR NAILS /etc. WHERE REQIRED FOR DOUBLE RAFTERS/JOISTS @ OPENING ——
| o FITTING PLYWOOD etc.
— D1942 | D1921 D134 D032Q D263
1] 1
29 DECK RAIL 1f19) POST DETAIL 1" ISBEAM TO COLUMN CONN. 1 1/2'[1)TOP PLATE PENETRATION 1 1/2{7)WATER HEATER VENT 1/4'3) FRAMING AT OPENING TYP. 1/2"
2x6 CAP RAIL—_ CEILING JOIST SPAN CHART ox6 REDWOOD
C— MEMBER SIZE SPACING MAX. SPAN OR 2ND FLOOR J\ ROOF SHEATH'NG\
12.0%0.c. 12'—5” § FLOOR SHEATHING T1—1 SIDING FL. SHEATHING DBL TOP PLATES
16.0"0.c 11—3" gESIggNASBEAIL _\ NUT & WASHER Z" FLASHING —DBL. BLK'G @ W I_\:, Lx4—ON—EDGETY| 2x4 ON EDGE] *. 1Y,
2x4 DF #2 42" GUARDRAIL / RIM JOIST 2o FEDOER A N CRIPPLES
” 3 ” p— i '
_ 24.0%0.c. 9-10 4x4 @ 48” o.c.—\ »
. — o 3_16d&G§’|"VOF@Eﬁgs_| 2x8 FASCIA \
N> 2x4 STRINGERS CONT (TYP.) 12.070.c. 19-6 B v s e e ’
16.0%0.c. 17°-87 ( — LAG BOLTS @ 16”0.c. \/ \/
2x6 DF #2 g e = IF MEM. IS TO BE USED FL. JOIST < SOz .
612 RIM GIROER % £ oC LJ AS SUPPORT LEDGER °o= \ ’
p = 24.0"0.c. 15'—6” B " NON bSES @ 24
NOTCHED TO |[\| ¥ |MBERTECH 2:6 DECKING - —— % I \ K . s )
\\ S (6X12 GIRDERS ©® 8'—0” ¢ 12.07o.c. 25-8 5 I E%é :‘/~£9x4 ON EDGE %4 ON EDGE@" 16d @ 18 0.c:
» 16.0”0.0, 23’_4” 6 | ¢ | <C — m N
p—5/8" ¢ BOLTS ) —— SOLID 2x8 DF #2 - —— > Cro- S 2x6 BLOCKING M1/2” DRY WAL R-Drooh B
V / T oo . - § +-3/8 —BLOCK'G / iga \2—2x6 TOP PLATE
©w 24.0"o.c. 20’-5" = DRYWALL NZ« NOTE: BRACING PER
ze oo || X T : ( B SEE SHEARWALL SCHEDULE ) “EADER SCHEDULE LLNO.
L. — = N
STAGRERED -l WA 24.0"0.c. ] 3 SEE SHEARWALL SCHEDULE ~—3/8" PLYWOOD =00, axt DF 42
4—6 4x6 DF #2
! \/\ :
4x6 POST—— J‘_S_IMP HU612 == 2x10 DF #2 68" 4x8 DF #2
14 n _ 8—10 4x10 DF #2
1/2” @ THROUGH BOLTS %R Bé 010" 02 DF 12
HUS HGR W/ #10x6 WOOD SCREWS (TYP. AM
/ #10x (TYP.) D1943 D1559 D0595 D029 D131
\ 1 1
2 DECK RAIL ELEVATION 1{18)CEILING JOIST CHART _ 1/4" [1AGUARDRAIL POST CONN.  3'{I0PLANT-ON DETAIL 1 1/2{6)KICKER DETAIL 3/4{2)WINDOW FRAMING 1/4"
DECKING (SEE PLANS) PLATE LAP 4—0” MIN @ SPLICE (U.N.O.)
12 — 16d COMMON NAILS/SPLICE
2410 RIDGE —— 2x BLOCKING W/ U.N.O.
5—16d COMMNON Vel _ 16d 818 2 2-16d —
NAILS PER 2x4 @ 4=0" W/
‘ X ) 2—-2x8 DF#2 16d @ 18" o.c. e . : : = —
N 1—ON EA. SIDE ’
—H™N OF 2—2x8 DF#2 C.J. _ 5 — 84 /
_____ , l— 1 x 6 LET—IN BRACE
y 2L gq 4l I —l| e 45" Every 25
y SLAUNCH CUT GLM — , o eA llsTUD | LINEAR FT. OF WALL
—— B ——] =R  \ ' OR PARTITION. NAIL
: BIRDSMOUTH 1 1/2" 2x4 PLATE W/ ’ AS SHOWN.
_____ 1] S PLYWOOD BEAM (SEE pLANé) — 1 2-16d / STUD I OR APPROVED EQUAL.
: L\_| — o 4x12 DF#2 TREAD (TYP) 2x6 CONT. W INTERIOR NON—BEARING
Iy }’l = ~— 2x4 STUDS 2x4 CoNT. | = A NON—SHEAR WALLS:
U ( 10 or g 30z g2 0 (1) - e 5% oo
2-2x8 DF#2 C.J. TP37 (4—TOTAL) TWO SOLID POST UNDER BEAM MATCH TOP OF RAFTER SIMPSON TA10 (TYP) 16d © 18" o.c. : ENDS & @ 36” o.c.
2— ¢ THRU ON EA SIDE W/5-8d NAILS ,
2—-16d STUD )
BOLT @ HEEL 40 NAILS TOTAL SIMPSON ABE44 / 4’—0” MAX 2 STORY| 12
= U.N.O. SEE SHEAR- Eﬁgc
- WALL SHCEDULE i
1/2"@ ANCHOR BOLT JOIST 2
JOIST o 4—— ANCHOR BOLTS —= THESE PLANS ARE NOT
- ACROSS PARALLEL T
12"x12” STRIP FOOTING PARTITION PARTITION FOR CONSTRUCTION
, D1543 Di947 SGNATURE” FROM BOTH
1]
17) GT1 GIRDER TRUSS 3/4"[1I9SLAUNCH CUT GLM 1 1/2”[@) EXT. STAIR DETAIL 3/4'(5)INTERIOR PARTITION 1" [1) STUD WALL FRAMING _3/8 THE ENGINEER OF RECORD
ADD A 2x TRIMMER (8—16d TYP. 16—16d ON BOTH SIDES OF BUTT SPLICES IN UPPER TOP PLATE _NAILING SCHEDULE WITH A "WET STAMP &
& KING STUD FOR Y U.N.O. ON PLANS CONNECTION NAILING SIGNATURE™ FROM THE
EVERY 6 FT. OF _// 1. JOIST TO SILL OR GIRDER, TOENAIL 3-8 LOCAL GOVERNING
HEADER LENGTH 16—16d ON BOTH SIDES OF WALL 2. BRIDGING To JOIST. TOENAIL EACH END ) - ne AGENCY ARE PRESENT.
— L > INTERSECTIONS AI, UOF,),P;RN B 3.1 x 6 SUBFLOOR OR LESS TO EACH JOIST, FACE NAIL 2 - 8d
ﬁ;i‘; CF‘;(éf\éIMON / 2x10 RIDGE : -I‘ — l ]‘ 4. WIDER THAN 1 x 6 SUBFLOOR TO EACH JOIST, FACE NAIL 3 - 8d
CONN. . . | i ] I - 5. 2" SUBFLOOR TO JOIST OR GIRDER, BLIND AND FACE NAIL 2 - 16d
,7 N 2x8 DF#2 2x KING STUD | 5% TRIMMER 6. SOLE PLATE TO JOIST OR BLOCKING, FACE NAIL *16d @ 16" o.c. DWG. BY
_\ RAFTERS @ | X 7. TOP PLATE TO STUD, END NAIL 2 — 164 CHK'D BY
e _ TOP PLATE SPLIC 8. STUD TO SOLE PLATE 4 — 8d, TOENAIL
24" oc 2-16d COM OR BOX NAILS ON BOTH o 4 7 8 TORNAL DATE
) SIDES OF BUTT SPLICES IN TOP PLATE TRUSS CLIP TO DBL. . oUaLE SD. FACE NAL oo JOB NO.
1-1x6 FOR WALLS UP TO 10’_0" PLATE BEYOND 1;) DOUBLED TOI; PLATES, FACE NAIL 16d @ 16" :.: o
VERT. — ’ _ _ A" . .C.
EX = 12" SPAN 2—2x TRIMMERS, 2—2x KING STUDS ) 4'—0” MIN TOWER CHORD OF BOTTOM CHORD 1. T0p PLATES. LAPS & NTERSECTIONS, FACE NAL s - 1o
—————————— ] TRUSS WITH OF TRUSS .
- I . ' . I I . . . I - — : . NI DA S . . TRUSS CLlP 12. CONTINUOUS HEADER, TWO PIECES li%NOé LSACg.CéJGE
8' . - 11 1 w !% \4_16d FROM PLYWOOD 111 I 1 | - 1 7. | 2x4 STUDS ©
SHTH'G TO TOP OF BM H H | H | | 16” o.c 7 13. CEILING JOISTS TO PLATE, TOENAL 3-&d
J % % & I_—. '{ 14. CONTINUOUS HEADER TO STUD, TOENAIL 4 — 8d
—16d COMMON “N——2x8 DF#2 C.J. —16d COMMON TYPICAL NAILING —16d COMMON OR | I m| iJ 15. CEILING JOISTS, LAPS OVER PARTITIONS, FACE NAIL 3 - 16d
NAILS @ HEEL @ 247 o.c. NAILS @ HEEL BOX NAILS AT 16" O.C. A m_ 2 =] o4 STUDS el 7 1 16. CEILING JOISTS TO PARALLEL RAFTERS, FACE NAIL 3 - 16d EXP. 12/31/10
—T—T—T—T—T—T—T—T—T—T—T—gpms :‘}; @ 16” o.c. 17. RAFTER TO PLATE, TOENAIL 3 - 8ad
1 T 111111 VAR j J 18. 1° BRACE TO EACH STUD AND PLATE, FACE NAIL 2 - &
LTP4 TYP. EACH SIDE EES S LSS BRL L
/\_ > TO TOP B TRUSS TRUSS 19. 17 x 8" SHEATHING OR LESS TO EACH BEARING, FACE NAIL 2 — 8d
PROVIDE POST PER PLAN \‘ SEE PLANS ACRQOSS PARALLEL TO 20. WMIDER THAN 17 x 8" SHEATHING TO EACH BEARING, FACE NAL 3 — 8d
’6\_/ ’ 16d NA”_S' PARTITlON PARTITION 21. BUILT UP CORNER STUDS 16d @ 24" o.c.
/ SEE FRAMING PLAN 22, BUILT UP GIRDER AND BEAMS 20d @ 32" o.c. @ TOP
I D1542 D1349) DO160 gs:;ég:%:ﬂfgg‘?;agﬂ’
1§ T1 CARPENTER TRUSS 3/4"{12)ROOF/FLOOR BEAM TO POST UN.O. 3/4’[8)CHORD SPLICE (TYP. 1/2" {4) TRUSS @ INTERIOR PARTITION 1" ... amisZPRINTED: 10/27/2010=



